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Multiple Choice Questions

1. An IUCD is

A. Copper-T

B. Condom

C. Vasectomy

D. pill.

Answer: a
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2. A steritisation tachnique is

A. Loop

B. Disphragm

C. Tubectomy

D. Cervical cap.

Answer: d

° Watch Video Solution

3. A contraceptive is

A. condom cervical cap or diaphragm

B. intrauterine device

c. pill


https://dl.doubtnut.com/l/_lrbNHZ8rDGWf
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D. all the above

Answer: a

° Watch Video Solution

4. A contraceptive pill contains

A. Progesterone and estrogen

B. Spermicidal salts

C. chemicals that cause automatic abortion

D. Chemicals that prebent fertillzation of ovum .

Answer: ¢

o Watch Video Solution

5. A contraceptive pill prevents ovulation by


https://dl.doubtnut.com/l/_WmYeNt2LQw1M
https://dl.doubtnut.com/l/_LyNhU1zlSKCK
https://dl.doubtnut.com/l/_44L5J8Be2frk

A. Blacking fallopian tube

B. inhibiting release of FSH and LH

C. Stimulating release of FSH and LH

D. Causing immediate degeneration of released ovum .

Answer: b

° Watch Video Solution

6. MTP is

A. Multitrade practices

B. Amlthusin treatise on population

C. Multiple temporary frequency

D. Medical termination of pregnancy

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_44L5J8Be2frk
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7.Vaginal diaphragm is

A. Spermicidal

B. Able to prevent descent of ova

C. able to prevent sperm contact with ovum

D. Oivcidal

Answer: c

o Watch Video Solution

8. A wealky oral contraceptive is

A. Mala A

B. Mala D

C. Saheli


https://dl.doubtnut.com/l/_1MsNBlUp9SVO
https://dl.doubtnut.com/l/_gnN1OHsrmrD2
https://dl.doubtnut.com/l/_mQuxrN9E4ODO

D. Saheli-2

Answer: ¢

° Watch Video Solution

9. Preventice birth control measure is :

A. Preventing union of sperm and ovum

B. preventing sperms from entering uterus

C. MTP

D. Test tube babies .

Answer: a

o Watch Video Solution

10. A method of sterilisation is


https://dl.doubtnut.com/l/_mQuxrN9E4ODO
https://dl.doubtnut.com/l/_PAvPz3LCNSQn
https://dl.doubtnut.com/l/_1utCkznGIgtb

A.1UDCB

B. Diaphragm

C. Vasectomy

D. loop

Answer: ¢

° Watch Video Solution

Revison Questions From Competitve Exams

1. Tubectomy is to prevent

A. Coitus
B. Egg formation
C. Fertilization

D. Embryonic development .


https://dl.doubtnut.com/l/_1utCkznGIgtb
https://dl.doubtnut.com/l/_1RwqIzEBf305

Answer: ¢

° Watch Video Solution

2. Contraceptive oral pills used by females help in birth control by :

A.Klilling of ova

B. preventing ovulation

C. killing the sperms

D. Forming barrier between sperms and ova .

Answer: b

° Watch Video Solution

3. The most important component of oral contraceptive pills is

A. Thyroxine


https://dl.doubtnut.com/l/_1RwqIzEBf305
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B.LH

C. Progesterone

D.GH

Answer: ¢

° Watch Video Solution

4.Progesterone present in contraceptive pill is meant for preventing :

A. Checking ovulation

B. Preventing fertillisation

C. Preventing inplantation of zygote

D. preventing cleavage

Answer: a

° Watch Video Solution
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5. Copper-T/loop prevents:

A. A Ovulation

B. B Fertilisation

C. C Zygote formation

D. D Cleavage .

Answer: b

o Watch Video Solution

6. Tubectomy a method of population control is performed on

A. Both males and female

B. Males only

C. female only

D. Only pregnant females .


https://dl.doubtnut.com/l/_PaLkAQv12sDM
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Answer: C

° Watch Video Solution

7. The birth control measure that is related to males is

A. Oral pill

B. Tubectomy

C. Vasectomy

D. None of the above .

Answer: ¢

° Watch Video Solution

8. A method of birth control is :

A.GIFT


https://dl.doubtnut.com/l/_kL6ql46pLG2p
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B. HJF

C. IVF-ET

D. IUDs.

Answer: d

° Watch Video Solution

9. A methoud of sterilaition is

A.IUDCB

B. Diaphragm

C. Tubectomy

D. loop

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_NGDnKr7O7lRw
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10. Amniocentesis is a technique to

A. herditary abnormality in enbryo

B. Cardiac ailments of embryo

C. Errors in amino acid metabolism in embroyo

D. All the above .

Answer: a

o Watch Video Solution

11. Which of the following is mechanical barrier used in birth control ?

A. Copper-T

B. Diaphragm

C. Loop

D. Dalcon shield.


https://dl.doubtnut.com/l/_zrZWHrTyTBDd
https://dl.doubtnut.com/l/_wXywMTuOqmD9

Answer: b

° Watch Video Solution

12. Oral contraceptives are used by females to check

A.implantation
B. Fertillization
C. Ovulation

D. Entry of sperms in vagina .

Answer: ¢

° Watch Video Solution

13. Amniocentesis involves the anaysis of

A. Amnion


https://dl.doubtnut.com/l/_wXywMTuOqmD9
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B. body fluids of amnitoes

C. Amnoitic fluid

D. amino acids of protein

Answer: ¢

° Watch Video Solution

14. Which of the following is one of the safest method of birth control ?

A. Termination of unwanted pregnancy

B. Sterilisation techniques

C. Rhyhum method

D. Use of physical barriers

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_Xhj82fGIptWa
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15. In the human female , menstruation can be deferred by the

administration of :-

A.FSH and LH

B. Estrogen an dprogesterone

C. FSH only

D.LH only

Answer: b

o Watch Video Solution

16. Given below are four methods (A)-(D) and their modes of action (1-4) in

achieving contraception. Select their correct matching from the four


https://dl.doubtnut.com/l/_PZTa1EzF9R50
https://dl.doubtnut.com/l/_XjqYmecKlfJ8

options that follow:

Method Mode of Action

(1) The pill (a) Prevents sperms
reaching cervix

(2) Condom (b) Prevents implanta
tion

(3) Vasectomy (c) Prevents ovaglation

(4) Copper-T (d) Semen contains no
sperms

Aa—1ii,b—iv,c—i,d— it

B.a — ii, b — iii,c — i,d — v

C.a —iii,b—1i,c—iv,d — i3

D.a —iv,b—1,c—ii,d — 1it

Answer: c

o Watch Video Solution

17. Which of the following two statements are correct ?
(i) Medical termination of pregnancy (MTP) during first trimester is

generally safe


https://dl.doubtnut.com/l/_XjqYmecKlfJ8
https://dl.doubtnut.com/l/_B6vrck89tP8S

(ii) Generally chances of conception are nil until mother breast-feeds the
infant upto two years
(iii) Intrauterine devices like copper-T are effective contraceptives
(iv) Contraception pills may be taken upto one week after coutus to
prevent conception.

A.Ac

B.cb

C.b,c

D.cd

Answer: a

o Watch Video Solution

18. Saheli' an oral contraceptive for females was developed by

A. AIIMS, delhi

B. IICB Kolkata


https://dl.doubtnut.com/l/_B6vrck89tP8S
https://dl.doubtnut.com/l/_5qnTLYmu2K38

C. SG PGI kucknow

D. CDRI Lucknow

Answer: d

° Watch Video Solution

19. Which of these is used to control human population?

A. Estrogen and progesterone

B. IUCD and MTP

C. Tubectomy and vasectomy

D. All the above .

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_5qnTLYmu2K38
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20. In vitro fertilization is a technique that involves the transfer of which
one of the following into the fallopian tube ?

A. Zygote or embroyo into 8 celled stage

B. 32- celled stage

C.Zygote only

D. Embroyo only upto 8 - celled satge .

Answer: a

o Watch Video Solution

21. Cu ions released from copper-releasing intra uterine devices (IUDs)

A. increase phagocytosis of sperms
B. Suppress sperm motility and fertilizing capacity
C. Prevent ovulation

D. make uterus unsuitable for implatation.


https://dl.doubtnut.com/l/_Z5PYwYgwidm1
https://dl.doubtnut.com/l/_DoV76kXYopRp

Answer: b

° Watch Video Solution

22.Which one is not included in "barrier methods" of birth control?

A. Diaphragm

B. Lippe's loop

C. Cervical cap

D. Vault.

Answer: b

° Watch Video Solution

23. Which of the following cannot be considered as assisted reproductive

technology


https://dl.doubtnut.com/l/_DoV76kXYopRp
https://dl.doubtnut.com/l/_BUB8Ty3YJlfx
https://dl.doubtnut.com/l/_naQC0yike7pE

A. in vitro fertilization

B. Medical termination of pregnancy

C. Gamete interafallopian transfer

D. interactoplasmic sperm injaction .

Answer: b

o Watch Video Solution

24. Given below are asserton and reason point out If both are true with
reason being correct explanation (A) both are true but reason is not
correct explation (B) assertion is true but reason is worng ( C) and both
are wrong (D)

Assertion . Amniocentesis is banned

Reason : - AMniocentesis gives inforamtion about fortal abnormalities

o Watch Video Solution



https://dl.doubtnut.com/l/_naQC0yike7pE
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25. The non-medicated IUD is :

A. Copper-T

B. Progestasert

C. Lippes loop

D. LNG-20

Answer: ¢

° Watch Video Solution

26. Most effective contraceptive method for ladies is :

A. Rhythum method

B. ECP

C. MTP

D. Cu-T


https://dl.doubtnut.com/l/_wuCmGv6nnQN6
https://dl.doubtnut.com/l/_uZ3mI1mg1F39

Answer: d

° Watch Video Solution

27. The method of directly injecting a sperm into ovum, assisted by

reproductive technology is called

A ZIFT

B. ICSI

C.GIFT

D. ET.

Answer: b

° Watch Video Solution

28. Saheli, a new oral contraceptive for the females developed by Indian

scientist is a:


https://dl.doubtnut.com/l/_uZ3mI1mg1F39
https://dl.doubtnut.com/l/_pD75hnNVcdnu
https://dl.doubtnut.com/l/_nIQcNMYx3xT0

A. Steroidal prepararion

B. Hormonal preparation

C. Non- Steroidal preparation

D. Taxic preparation to kill sperms.

Answer: ¢

o Watch Video Solution

29. Saheli is :

A. Oral female contraeptive

B. Surgical sterilisaton for females

C. Diaphreagm for females

D. Diaphragm for males

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_nIQcNMYx3xT0
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30. Which of the following is the most widely accepted method of

contraception in india at present ?

A. Diaphragm

B. IUDs

C. Cervical cap

D. Tubectomy

Answer: b

o Watch Video Solution

31. If for some reason, the vesa effeerentia in the human reproductive

system get blocked, the gametes will not transported from

A. Overy to uterus

B. Vagina to uterus


https://dl.doubtnut.com/l/_styWKXqoVUvt
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C. Testis to epididymis

D. Epididmis to vas deferens

Answer: c

° Watch Video Solution

32. Medical Termination of Pregnancy (MTP) is considered safe up to how

many weeks of pregnancy ?

A. Six

B. eight

C. twelve

D. Eighteen

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_Cx6vZBpggzvP
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33. The technique called Gamete Intra Fallopian Transfer (GIFT) is

recommended for those females

A. Who cannot produce an ovum

B. Who cannot ratain foetus inside uterus

C. Whose cervical canal is no narrow to allow passage for sparms

D. Who cannot provide suitable environ ment for feritlization .

Answer: a

o Watch Video Solution

34.ZIFT is

A. Zygote into fallopian tube

B. Embryo into uterus

C. Mixture of aperms and ova into fallopian tube

D. mixture of sperms and ova into uterus .


https://dl.doubtnut.com/l/_1fRjBf73nMdu
https://dl.doubtnut.com/l/_t9NsnzFiKhy3

Answer: a

° Watch Video Solution

35. In assisted reproductive techology ,after in vitro fertilization what is

transplanted in the fallopian tube?

A. Embryo upto 8 blastomeres , if zygote is not tranplanted

B. Blastula is transplanted

C. only zygote is tranplated

D. Morula in 8-24 celled stage is transplanted .

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_t9NsnzFiKhy3
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36. What does the figure show

A. Ovarian cancer

B. Uterine cancer

C. Tubectomy

D. Vasectomy

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_pdsE9JvFcLXa

37. The Test-Tube Baby Program employs which one of the following

techniques ?

A. intracytoplasmic sperm injection

B. Gamete intrefallopin transfer

C. Intrauterine insemination

D. zygote interfallopian transfer.

Answer: d

o Watch Video Solution

38. Oral contraceptive pill is composed of

A. Estrogen and growth haromone

B. Estrogen and progesterone

C. Estrogen and testoseone

D. Progesterone and testosterone


https://dl.doubtnut.com/l/_Gskdb0jGTycJ
https://dl.doubtnut.com/l/_68RsvYDIPN67

Answer: b

° Watch Video Solution

39. Urinogential tract infection in males accompained by yellow discharge,

burning, felling on passing, fever and headache is called as:

A. AlIDS

B. Gonrrhoea

C. Hepatits B

D. Syphilis

Answer: b

° Watch Video Solution

40. Which one of the following groups includes all sexually transmitted

diseases?


https://dl.doubtnut.com/l/_68RsvYDIPN67
https://dl.doubtnut.com/l/_Fj6RFYo15mMw
https://dl.doubtnut.com/l/_9yH1H1YFKFN2

A. Hapatitis-B , AIDS , haemophila

B. AIDS, syphils , cholera

C. Trichomonasis , maleria ,HIV

D. Gonorrhoea ,Hepatits-B , chlamydia

Answer: d

o Watch Video Solution

41. Copper releasingg IUD is

A. Multiload 375

B. LNG-20

C. Saheli

D. Diaphragm

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_9yH1H1YFKFN2
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42. In which of the following ART techniques the semen is artificially

introduced into the female:

A ET

B. IUI

C.IuT

D. GIFT

Answer: b

o Watch Video Solution

43. which is wrongly matched

A.ICSI - sperm directly injected into ovum

B. IUT - sperm introduced artifically into uterus


https://dl.doubtnut.com/l/_REQ2h1zJI5kB
https://dl.doubtnut.com/l/_nOBbm4fujWNh
https://dl.doubtnut.com/l/_75LqVjYaPl82

C.GIFT - Embryo with more than 8 blastomeres tranferred into

fallopian tube

D. IVF - Fertillization outside the body

Answer: ¢

° Watch Video Solution

44. which is not cause of male infertility

A. Motile sperms

B. Oilgospermia

C. Teratozoospermia

D. Asthenozoopermia

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_75LqVjYaPl82
https://dl.doubtnut.com/l/_pv3xGrtB8c2o
https://dl.doubtnut.com/l/_L10SrY0821iQ

45. The sexually transmitted infection, that can affect both the male and
female genitals and may damage the eyes of babies born of infected
mothers is

A. Syphilis

B. Gaonorrhoea

C. Hapatits

D. AIDS

Answer: b

o Watch Video Solution

46. Match the contraceptive methods given under column | with their

examples given under column Il and select the correct option from the


https://dl.doubtnut.com/l/_L10SrY0821iQ
https://dl.doubtnut.com/l/_NdArTGWR8rcx

given codes

Column I Column IT
A. Chemical (i)  Tubectomy and vasectomy
B. IUDs (ii) Copper T and loop
C. Barriers (iii) Condom and cervical cap
D. Sterilisation (iv) Spermicidal jelly and foam
(v) Coitus interruptus and calender method

Aa—s,b—t,c—qd—r

B.a —p,b—r,c—q,d—t

Ca—s,b—qc—t,d—p

D.a —s,b—qc—7r,d—0p

Answer: d

o Watch Video Solution

47. A vasectomy prevents :

A. Producation of sperms in testes

B. Producation of semen


https://dl.doubtnut.com/l/_NdArTGWR8rcx
https://dl.doubtnut.com/l/_bXq1Xl5cOypC

C. Movement of sperm into urethra

D. male erection

Answer: c

° Watch Video Solution

48. Permanent contraception in human male is through

A. Diaphragm

B. Tubectomy

C. Vasectomy

D. pill.

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_bXq1Xl5cOypC
https://dl.doubtnut.com/l/_yYEC0Wcrr3jS

49. Which of the following cannot be detected in a developing foetus by

amniocentesis?

A. Jaundice syndome

B. Klinefelter's

C. Sex of foetus

D. Down's syndrorome.

Answer: a

o Watch Video Solution

50. One of the legal methods of birth control is

A. By a premature ejaculation during coitus

B. Abortion by taking an approriate medicine

C. By abstining from coits from 10-17 days of menstrual cycle

D. BY having coitus at the time of day break.


https://dl.doubtnut.com/l/_t7wRCclvN18B
https://dl.doubtnut.com/l/_s0r5gAKhBfPJ

Answer: b

° Watch Video Solution

51. One of the following is not a method of contraception- which one

A. Pills having oxytocin and vaspressin
B. Lippe's loop
C. Tubectomy

D. Condoms

Answer: a

° Watch Video Solution

52. Stage transferred to uterus after induced fertilization of ova in the

laboratory is



https://dl.doubtnut.com/l/_s0r5gAKhBfPJ
https://dl.doubtnut.com/l/_9zBDmubKQpiu
https://dl.doubtnut.com/l/_PLUozC5QnGqR

A. Embryo at two - blastomere stage

B. Morula

C. Zygote

D. Embryo at four blastomere stage

Answer: b

o Watch Video Solution

53. Which one of the following statements is correct regarding sexually

transmitted infections (STIs) ?

A. Haemophilia is one of the STD

B. Genital herpes and sicke cell anaemia are both STD

C. Chances of a five years old boy contracting a STD are vary little

D. A Person may contract syphilis by sharing milk with one already

suffering from disease .


https://dl.doubtnut.com/l/_PLUozC5QnGqR
https://dl.doubtnut.com/l/_sC89PwfwFYPz

Answer: ¢

° Watch Video Solution

54. Which of the following is hormone-releasing IUD ?

A.CU-T

B.Cu7

C.LNG-20

D. Multiload 475

Answer: ¢

° Watch Video Solution

55.Induced abortion is also called .

A.1IUD


https://dl.doubtnut.com/l/_sC89PwfwFYPz
https://dl.doubtnut.com/l/_jrYrgGNnyIdc
https://dl.doubtnut.com/l/_5NrEjFTZUTgw

B. PID

C. MTP

D.STD

Answer: ¢

° Watch Video Solution

56.the word tubectomy refers to

A. Sterilisation of male reproductive organ

B. sterilisation of female reproductive organ

C. Insertion of Cu-T

D. Use of condoms

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_5NrEjFTZUTgw
https://dl.doubtnut.com/l/_hXC5mjys1MH5
https://dl.doubtnut.com/l/_fri5uFz9oO5S

57. Causes for increased population growth in India is/are

A. High birth rate

B. Low death rate of infants

C. Lack of education

D. All of these

Answer: d

o Watch Video Solution

58. Which is common match of amniotic fluid test

A. IVF

B. ZIFT

C.GIFT

D. None of them


https://dl.doubtnut.com/l/_fri5uFz9oO5S
https://dl.doubtnut.com/l/_tcSk6JbZ9py2

Answer: d

o Watch Video Solution

59. Read the statements A and B and identify the correct choice from
those given:
Statement A: Women are at the peak of conceptionon the 14th day of
menstrual cycle
Statement B : Vasectomy is the method normally, employed to avoid
conception in females.

A.satement A is wrong B is right

B. statement a is right b is wrong

C. Both the statement arae right

D. Both the statement are wrong

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_tcSk6JbZ9py2
https://dl.doubtnut.com/l/_HxdRJocyWQSR

60. The appearance of rashes all over the body are the symptoms of:

A. Gonorrhoea
B. AIDS
C. Syphilis

D. Fever

Answer: c

o Watch Video Solution

61. which contraceptive device makes uterus unsuitable for implantation

A. Progestasert
B. CuT
C. Lippe's loop

D. Multiload.


https://dl.doubtnut.com/l/_HxdRJocyWQSR
https://dl.doubtnut.com/l/_wKNwSvXCRhzj
https://dl.doubtnut.com/l/_JbcrjEye9vqA

Answer: a

° Watch Video Solution

62. which is not a sexually transmitted disease

A. Genital warts

B. Trichomoniasis

C. Chlamydiasis

D. Myasthenia gravis

Answer: d

° Watch Video Solution

63. Which is the hormonal method of birth control ?

A. pill


https://dl.doubtnut.com/l/_JbcrjEye9vqA
https://dl.doubtnut.com/l/_UK9lDmdfcgoD
https://dl.doubtnut.com/l/_gG0mlCpLOC51

B.IUD

C. Vasectomy

D. Femdom

Answer: a

° Watch Video Solution

64. In which of the following ART techniques the semen is artificially

introduced into the female:

A. Intravaginal insemination

B. Intrauterine insemination

C. Gamete intrafallopian transfer

D. interacytoplasmic sperm injection

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_gG0mlCpLOC51
https://dl.doubtnut.com/l/_jpf6ptKCzyEb

65. which of the following statement is wrong

A. Test tube body begins growth inside test tube

B. Test tube body grows within mother's womb

C. test tube boby grows within surrogate mother's womb

D. Test tube baby grows following uterine fertillzation .

Answer: d

o Watch Video Solution

66. Which of the following is world's first non-hormonal oral
contraceptive pill for females, developed by scientists at Central Drug

Research Institute (CDRI( in Lucknow, India ?

A. male -D

B. LNG-20


https://dl.doubtnut.com/l/_jpf6ptKCzyEb
https://dl.doubtnut.com/l/_nNICHehIkwiA
https://dl.doubtnut.com/l/_ZUzxB2mOVyCL

C. Saheli

D. Mala-A

Answer: c

° Watch Video Solution

67. In which 'Assisted Reproductive Technology' (ART), Test-tube Baby'

procedure is applied?

A. Gamete interfallopian tranfer

B. Ineracytoplasmic sperm injection

C. IN vitro fertillization and embryo transfer

D. Zygote intrafallopian transfer.

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_ZUzxB2mOVyCL
https://dl.doubtnut.com/l/_OReIPVGIpcGk
https://dl.doubtnut.com/l/_lUa6Eq0csQ5J

68. 1UDs which are used by females

A. Act as spermicidal gel

B. black the enrty of sperm into vagina

C.Are implanted under skin where they release progestogen and
estrogen

D. Release copper ions in the uterus that increase phagocyosis of

sperms.

Answer: d

° Watch Video Solution

69. Which one of the following causes population explosion ?

A. Decrease in death rate , maternal mortality rate infant mortality
rate

B. Decrease in death rate and increase in materanal mortality rate


https://dl.doubtnut.com/l/_lUa6Eq0csQ5J
https://dl.doubtnut.com/l/_WaBdKV23mCgZ

C. Decrease in infant mortality rate and increase in death rate

D. Decrease in infant mortality rate and decrease in the number of

people in reproductive age .

Answer: a

° Watch Video Solution

70. The technique used to block the passage of sperms in males is

A. Tubectomy

B. Vasectomy

C. Coitus interruptus

D. rhythm method

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_WaBdKV23mCgZ
https://dl.doubtnut.com/l/_muAqD5p476LE
https://dl.doubtnut.com/l/_Apt1gs0v2vq4

71. In case of a couple where the male is having a very low sperm count,

which technique will be suitable for fertilisation

A. Intrauterine transfer

B. Gamete intrefallopin transfer

C. Artificial intrafallopian

D. Intracytoplasmic sperm injaction

Answer: ¢

o Watch Video Solution

72. Assisted reproductive technology, IVF involves transfer of

A. Zygote into fallopian tube

B. zygote into uterus

C. Embryo with 16 blastomeres into the fallopian tube

D. ovum into fallopian tube .


https://dl.doubtnut.com/l/_Apt1gs0v2vq4
https://dl.doubtnut.com/l/_yE3tHEqLF33s

Answer: a

° Watch Video Solution

73. Tubectomy is a method of sterilization in which

A. Overies are removed surgically

B. Small part of vas deferens is removed or tied up

C. Uterus is removed surgically

D. small parat of fallopian tube is removed or tied up.

Answer: d

o Watch Video Solution

74. Amniocentesis can diagnose which of the following defects
(a) Trisomy (b) Neural tube defects

(C) infection (d) Lung maturity.


https://dl.doubtnut.com/l/_yE3tHEqLF33s
https://dl.doubtnut.com/l/_LyOzl31waLcf
https://dl.doubtnut.com/l/_p1S8izba5FQ9

A.a,bandc

B.a,band d

C.b,cand d

D.a,b,cand d

Answer: d

° Watch Video Solution

75. Amniocentesis involes analysis of

A. Amino acids

B. Membreane

C. Skin cells

D. Sex cells

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_p1S8izba5FQ9
https://dl.doubtnut.com/l/_1IbQe2zsSKFB

76.in birth control methods , which one is an intra- uterus device

A.LNG-20

B. Saheli

C.Vaginal ring

D. DMPA

Answer: a

o Watch Video Solution

77.Progestasert in and IUD which makes the uterus unsuitable and cervix

hostile to the sperms as they are

A. Non medicated IUD

B. Ideal contraceptive

C. Copper relasing IUD


https://dl.doubtnut.com/l/_1IbQe2zsSKFB
https://dl.doubtnut.com/l/_Gk08Ysh1Wbzf
https://dl.doubtnut.com/l/_h1B5o7F9ufcV

D. Hormone relasing IUD

Answer: d

° Watch Video Solution

78. Assissted Reproductive Tecnology does not include

A. Gamete intrafallopian transfer

B. Artificial insemination

C. IN vitro fertillization and embryo transfer

D. zygote extra - fallopian transfer.

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_h1B5o7F9ufcV
https://dl.doubtnut.com/l/_I6XR5vZpL5wn

79. match the columnl,il and Ill find the correct option

1 II
(p) Trichmoniasis (i) Herpes simplex (z)
(¢) syphilis (i) Neisseria gonorrhoeae (y)
(r) Gonrrhoea (i47) treponema pallidum  (2)
(s) Genital herpes (iv) trichomonas vaginalis (w)

AP—ivyq—1it—2z,r—1i—7r,s—1—wW

BBP—iw—2x,q—1t—w,r— 1 —Y,s — 1L — 2

CP—iw—-—y,q—t—2z,r—1ii—x,8 — it —w

DP—4—2z,q—1 —y,r—1iv—w,s— 1l — &

Answer: a

117

pain in lower abc
inflammation ar
patchy hair loss

Feeling of uneas:

o Watch Video Solution

80. match the following and find the correct combination
(a) syphilis (¢)  human papilloma virus

(b) genital warts (i¢) HBV

(c) Hepatitis-B  (i4i) treponema pallidum

(d) Gonorrhoea (iv) HSV

(v) Neisseria


https://dl.doubtnut.com/l/_NeKDaoOedXuu
https://dl.doubtnut.com/l/_QvcMf8x4clZ7

Aa—1ii,b—1i,c—iv,d —v

B.a —iii,b —i,c —iv,d — v

Ca—1it,b—1i,c—1ii,d—v

D.a —ii,b—iii,c —iv,d — v

Answer: ¢

o Watch Video Solution

81. After tubectomy which which part of female reproductive system

remains blocked

A. Cervix

B. Uterine cavity

C. Ovary

D. Fallopian tube

Answer: d



https://dl.doubtnut.com/l/_QvcMf8x4clZ7
https://dl.doubtnut.com/l/_vECGn3iR5PXm

| o Watch Video Solution

82. A childless couple can be assisted to have a child through a technique

called GIFT. The full form of this teclmique is

A. Gamete inserminted fallopian transfer

B. Gamete intrefallopin transfer

C. Gamete intetnal fertillization and transfer

D. Germ cell internal fallopian transfer

Answer: b

o Watch Video Solution

8. Transfer of an ovum of a donar into fallopian tube of a surrogate

mother is

A ET


https://dl.doubtnut.com/l/_vECGn3iR5PXm
https://dl.doubtnut.com/l/_qcxV3nPsowWU
https://dl.doubtnut.com/l/_t1U2cQFiZV8R

B. IUT

C.GIFT

D. ZIFT

Answer: c

o Watch Video Solution

84. match and choose the correct option

1 11

Gonorrhoea

B

i)  Loss of appetite, pain upper right abdomen
trichomoniasis (¢¢) white patches on tongue or roof of buccal cavit

(
(

Hepatits B (i4¢)  Pain while passing urine
(

—~ A~ —~
=

®»

syphilis iv) Itchingin and and around vagina
Ap—1i,q—1iv,r — i1, S — 111
B.p —iv,q — 12,7 — 12,8 — 1

C.p—1t,q—1tv,r — 1,8 — 1l

D.p —tt,q — &, 7 — 11,8 — 1V


https://dl.doubtnut.com/l/_t1U2cQFiZV8R
https://dl.doubtnut.com/l/_PBYw4VrReCWX

Answer: ¢

° Watch Video Solution

85. Amniocentesis is one of the methods

A. Adapted for MTP

B. OF birth control

C. For foetal sex determination

D. Used for safe parturition

Answer: ¢

° Watch Video Solution

86. Lactational amenorrhoea prevents

A. Secretion of malk from breast


https://dl.doubtnut.com/l/_PBYw4VrReCWX
https://dl.doubtnut.com/l/_sy8R2d7dD1Ri
https://dl.doubtnut.com/l/_2JtirHPRRzTH

B. Conception

C. secretin of prolactin

D. Spermatogenesis

Answer: b

° Watch Video Solution

87. Steriisation period of treponema pallidum is about

A. 2-4 days

B. 7-21 days

C.1-2 days

D. 3-4 weeks

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_2JtirHPRRzTH
https://dl.doubtnut.com/l/_L915nAD24Oh2
https://dl.doubtnut.com/l/_OGomEDfx9xkr

88. Sterilisation procedure in human female is

A. Coitus interruptus

B. rhythum method

C. Tubectomy

D. Vasectomy

Answer: ¢

o Watch Video Solution

89. With regard to birth control method in humans DMPA stands for

A. Medical termination of pregenancy (MTP)

B. Assisted repuctive technolgy (ART)

C. Contraceptive injection

D. Durgical procedure


https://dl.doubtnut.com/l/_OGomEDfx9xkr
https://dl.doubtnut.com/l/_FPcuvDaGlYSA

Answer: ¢

o Watch Video Solution

90. Given below are four methods (a-d) and their modes of action (i-iv) in

achieving contraception. Select their correct matching from the four

options that follow.

Method Mode of Action

(a) The pill (i) Prevents sperms reaching cervix
(b) Condom (ii) Prevents implantation

(c) Vasectomy  (iii) Prevents ovulation

(d) Copper-T (iv) Semen contains no sperm

Aa—1iv,b—1i,c—ii,d — i1

B.a —i,b—ii,c— iii,d — iv

C.a —ii,b—1i,c—iii,d — iv

D.a —1t,b—1i,c—iv,d — it

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_FPcuvDaGlYSA
https://dl.doubtnut.com/l/_HPvIMUqx0O4X

91. Lactational amenorrhoea menas

A. Medical terminal of pregnancy
B. Oral administtration of progesterone
C. Coitus interruptus

D. Absence of menstruation during intense lactation .

Answer: d

° Watch Video Solution

92. In context of amniocentesis, which of the following statements is

incorrect?

A. It is used for detectin of cleft palate

B. It is usually done when a women is between 14-16 weeks pregnant

C.it is used for prentatal prenant



https://dl.doubtnut.com/l/_HPvIMUqx0O4X
https://dl.doubtnut.com/l/_szn5srxLbXSF
https://dl.doubtnut.com/l/_DbgVaD1H6sIg

Answer: a

o Watch Video Solution

93. Which of the following approaches does not give the defined action of

contraceptive ?

(a) Intra uterine devices Increase phagocytosis
of sperms, suppress
sperm motility and
fertilising capacity of

sperms
(b) Hormonal Prevent/ retard entry of
contraceptives sperms, prevent
ovulation and
fertilisation
(c) Vasectomy Prevents

spermatogenesis

(d) Barrier methods Prevent fertilisation

) e o e

A. Vasectomy - Prevents spermatogenesis

B. Barrier methods -Prevents fertillization


https://dl.doubtnut.com/l/_DbgVaD1H6sIg
https://dl.doubtnut.com/l/_rqRTiy9qFLS3

C.Intra- uterine devices - Increase phagocyosis of sperms suppress

sperm motiliity and fertilizing capacity of sperms

D. Hormonal cantraceptives - Prevent / retard entry of sperms ,

prevent ovulation

Answer: a

o Watch Video Solution

94. Which of the following is incorrect regarding vasectomy?

A. Irreversible sterility

B. NO sperm ocurs in seminal fluid

C. No sperm occurs in epididymis

D. Vasa deferentia are cut and tied .

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_rqRTiy9qFLS3
https://dl.doubtnut.com/l/_lDH6ZoElZE1U

95. Embryo with more than 16 blastomeres formed due to in vitro

ferilization is transferred into

A. Cervix

B. Uterus

C. Fallopian tube

D. Fimbriae

Answer: b

° Watch Video Solution

96. Assertion : Foetal disorders can be diagnosed by chorionic villi
sampling.
Reason : Karyotyping can be done for mitotically dividing cells of

chorionic villi.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_lDH6ZoElZE1U
https://dl.doubtnut.com/l/_4TGBSXvdwxnz
https://dl.doubtnut.com/l/_n1F0G8dITTXS

97. Match sexually transmitted diseases with their causative agents

1 17
p) Gonorrhoea i) HIV

syphilis i) Neisseria

)
Nz

(

(
Genital warts  (i4¢) Treponema
AIDS (

—~ o~ o~
=
~— —

iv) Human papilloma virus
Aa—1ii,b—iii,c—iv,d — 1
B.a — iii,b —tv,c —i,d — i1
Ca—1iv,b—1ii,c—1ii,d —1

D.a — iv, b — iii,c — i1, d — 1

Answer: a

o Watch Video Solution

98. In case of a couple where the male is having a very low sperm count,

which technique will be suitable for fertilisation


https://dl.doubtnut.com/l/_n1F0G8dITTXS
https://dl.doubtnut.com/l/_Lz1LuIrlNBp3
https://dl.doubtnut.com/l/_CEbCgvJ253nI

A. Intrauterine transfer

B. Gamete intracytoplasmic fallopian trasfer

C. Artificial insemination

D. Intracytoplasmic sperm injaction

Answer: d

o Watch Video Solution

Check Your Grasp

1. Al in reproductive health is

A. Assisted onsemination
B. Astificial insemination
C. Antibody introducation

D. Antigen inducation


https://dl.doubtnut.com/l/_CEbCgvJ253nI
https://dl.doubtnut.com/l/_5Q6JI1FN1sPY

Answer:

° Watch Video Solution

2. Oilgospermia is caused by

A. Alcohlolism

B.STD

C. Damage to prosate or seminal vesicles

D. All the above.

Answer:

° Watch Video Solution

3. Elevation of prolactin level in normal female causes

A. Non-implantion


https://dl.doubtnut.com/l/_5Q6JI1FN1sPY
https://dl.doubtnut.com/l/_cEbZxZRxhWsN
https://dl.doubtnut.com/l/_3Ev4CXAU462I

B. Non- ovulation

C. Oligo- ovulation

D. Ovartan cysts.

Answer:

° Watch Video Solution

4. Chancroid is a sexually transmitted disease caused by

A. Trichomanas

B. Treponema

C. Haemophilus

D. Neisseria

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3Ev4CXAU462I
https://dl.doubtnut.com/l/_TkC4Rh90kZd5
https://dl.doubtnut.com/l/_usAkxhM5D9pg

5. MTP Act of of 1971 was amended in

A. 1994

B. 1998

C. 2002

D. 2003

Answer:

o Watch Video Solution

6.Implanon is

A. Morning -after pill

B. Contraceptive pill

C. Injectable contraceptive

D. Contraceptive implant


https://dl.doubtnut.com/l/_usAkxhM5D9pg
https://dl.doubtnut.com/l/_RogfXczS3Nqm

Answer:

° Watch Video Solution

7.Fem shield is a

A. Barrier contraceptive

B. chemical contraceptive

C. Emergency contraceptive

D. Injectable contraceptive

Answer:

° Watch Video Solution

8.Reproductive health is related is related to

A. Physical fitness


https://dl.doubtnut.com/l/_RogfXczS3Nqm
https://dl.doubtnut.com/l/_BBLpn5CnKNEP
https://dl.doubtnut.com/l/_Npmjkvi6Ts7p

B. Emotinal compatibility

C. Behavioral inter-relationships

D. All the above.

Answer:

° Watch Video Solution

9. Toxic cytokines are produced by

A. Oral pill

B. CU-T

C. Saheli

D. Sponge

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Npmjkvi6Ts7p
https://dl.doubtnut.com/l/_tyXdG9ODjEjA
https://dl.doubtnut.com/l/_MN5wwaZMF5mw

10. Progestasert is

A.1IUD

B. Oral pill

C. Male condom

D. female condom.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MN5wwaZMF5mw

